Halit Celik.

tan(n + 1) — tan(n)
1+ tan(n + 1) tan(n)

tan(1) =tan(n+1—n) =

tan(1) + tan(1) tan(n + 1) tan(n) = tan(n + 1) — tan(n)

tan(n + 1) tan(n) = [tan(n + 1) — tan(n) — tan(1)]

tan(1)
n = 1icin tan(2) tan(1) = tanl(l) [tan(2) — tan(1) — tan(1)]
n = 2 icin tan(3) tan(2) = tanl(l) [tan(3) — tan(2) — tan(1)]
n = 3 icin tan(4)tan(3) = tan(D) [tan(4) — tan(3) — tan(1)]
n =nicin tan(n + 1) tan(n) = tan(D) [tan(n + 1) — tan(n) — tan(1)]

Taraf tarafa toplanirsa

tan(n + 1)
tan(1)

Toplam = [tan(n + 1) — (n + Dtan(1)] = -(n+1)

tan(1)

Olatak bulunur.



